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#include <stdio.h>
void main(void)

char c;
printf("—XF A AL TLZELY");
scanf("%c", &c);

printf(" A SN T=XF:%c¥n", c);
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#include <stdio.h>
void main(void)

{
int num; printf(“B#% A DL TESLY:?);

scanf("%d", &num);
if (num % 5 == 0) {
printf("5TE|YENFE T ¥n", num);
} else {
printf("5TE|YENFEE A¥n", num);
}

}
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default: ALE

switch ( #F{f=C) {
case fE1: ALIE
case {E2: AL
case fE3: LI

81; break; // MK == E175X o 0TE1
82; break; // FHEX == [E275 5012
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switch ( FE{E I ) {
case {B1: MIE1; break; // 5Tz == B 145 A1
case f82: SLE2; /] SRl == B2 HAE2,3
case {E3: ALI3; break; // Tl == {E37Z U3
1 default: A4, break UYL ITYT
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#include <stdio.h>

void main(void)

{
int num;  printf("EB & A AL TS "),

scanf("%d", &num);
switch (num % 3) {

case 0: printf("3D{E# T ¥n"); break;

case 1: printf("1RY T9¥n"); break;

default: printf("25FRY...f2EEBLVET ¥n"); break;
}




+9

A
hi S

Bc sl

EEVOEEESLGE.RILEED ‘LD

£HOTCLAFF, —D—DIZARIZ{TI(T5

FYLBBSZMITT-ANRTMYPTNIEN
HBo

Boyl &I, e

21D,

L= DFEZ=EY . TDFEI
NFEPHIEZEINT HETEREDHTEE

?—



OEX

T—45% BIIEHAIERK

LAFUN YIS0,

BRIZIE

1ES

H
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int a0 = 1; int a[3];

intal=09; int a[0] = 1;

inta2=7; inta[l] =9;
inta[2] =7;
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#include <stdio.h>
void main(void)

{
char s[128];

printf(" X F 5 Dinput:");
scanf("%s", &s);
printf("input XX FF¥n%s¥n", s);
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#include <stdio.h>

void main(void)

{
int arrayint[5];
arrayint[2] = 10;
printf(“%d”, arrayint[2]);

}




